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General English 

Read the following passage carefully and answer the questions (1 - 5). 
 
If a person wishes to be a writer, he must develop his own point of view. All good writers make 
us see things in a different light. He may be writing about the same thing as his friends, but his 
presentation must reflect his personality and individuality to be a successful writer. There are so 
many interesting subjects he can write about in different forms, but he should begin with writing 
short stories to attract instant attention. People enjoy humorous stories, adventurous stories, 
domestic stories, the mysteries and stories related to animals and strange experiences, but love 
stories play on their sentiments and have a good market. He needn’t worry if his story turns out 
to be short - some of the best stories are quite short. He must be very careful about the ending 
of the story. It is what the reader desires, expects or best of all doesn’t expect. The uniqueness 
of the ending wins acclaim for the writer. 
 
What is the most important thing about being a writer? 
 

A.​ He must have a pen and paper 
B.​ He must have a degree in writing 
C.​ He must have a room of his own and enough money 
D.​ He must develop his own point of view 

 
Answer - He must develop his own point of view 
 
Which form of writing attracts instant attention? 
 

A.​ Poetry 
B.​ Novel 
C.​ Short Story 
D.​ Drama 

 
Answer - Short Story 



 
What kind of stories have a good market? 
 

A.​ Mystery and horror stories 
B.​ Social and domestic stories 
C.​ Humorous and adventurous stories 
D.​ Love stories 

 
Answer - Love stories 
 
What should a successful writer’s presentation reflect? 
 

A.​ His personality and individuality 
B.​ His handwriting 
C.​ His vision of life 
D.​ His knowledge of people and places 

 
Answer - His personality and individuality 
 
What brings praise to the writer? 
 

A.​ A novel’s beginning 
B.​ A striking climax 
C.​ An arresting anti-climax 
D.​ A unique ending 

 
Answer - A unique ending 

What is the synonym of delicious? 
 
Answer - Tasty 

At his success in the examination, he felt elated. Which is the antonym of 
elated? 
 
Answer - Dejected 
 

Although they are not rich, they always __ wear clothes. Choose the 
appropriate word: 
 

A.​ Respecting 



B.​ Respective 
C.​ Respectable 
D.​ Respected 

 
Answer - Respectable 

Which of the following words is correctly spelt? 
 

A.​ Benifit 
B.​ Maintainance 
C.​ Compitition 
D.​ Absence 

 
Answer - Absence 

Her failure in examination disappointed her parents. The underlined word is  
 

A.​ Verb 
B.​ Noun 
C.​ Adjective 
D.​ Adverb 

 
Answer - Noun 

Which sentence is not correctly punctuated? 
 

A.​ What a pretty child ! 
B.​ “I am not going tomorrow”, said she. 
C.​ They can do it, can’t they? 
D.​ If I were rich I would help the needy. 

 
Answer - If I were rich I would help the needy. 
 

What makes you happy? This sentence can be changed into passive voice 
as: 
 
Answer - by what are you made happy. 



She said to me, “I am unwell today”. The sentence can be changed into 
indirect speech as: 
 
Answer - She told me that she was unwell that day. 

It is a very beautiful flower. It can be changed into an exclamatory sentence 
as: 
 

A.​ How very beautiful the flower! 
B.​ How beautiful flower it is! 
C.​ How beautiful the flower is! 
D.​ How very beautiful flower it is! 

 
Answer - How beautiful the flower is! 
 

History and Political Science 

Who among the following proposed the French pressure on Mohammad 
Ali, besieged at Trichinopoly, could be released by attacking Arcot, the 
capital of the Carnatic? 
 

A.​ Sir Eyre Coot 
B.​ Pocock 
C.​ Robert Clive 
D.​ Warren Hasting 

 
Answer - Robert Clive 
 

The details of the conspiracy hatched by Clive against Siraj-ud-Daulah 
were settled through: 
 

A.​ Rai Durlab 
B.​ Manik Chand 
C.​ Amir Chand 
D.​ Jagat Seth 

 
Answer - Jagat Seth 
 



Keshab Chandra Sen was deeply influenced by: 
 

A.​ Hinduism 
B.​ Islam 
C.​ Christianity 
D.​ Buddhism 

 
Answer - Christianity 
 

Which one of the following is incorrect about the Brahmo Samaj?  
 

A.​ It laid emphasis on human dignity 
B.​ It opposed idolatry 
C.​ It criticised social evils as Sati 
D.​ It criticised the Vedas and Upanishads 

 
Answer - It criticised the Vedas and Upanishads 
 

Who among the following could not attend the first meeting of Indian 
National Congress? 
 

A.​ Dadabhai Naroji 
B.​ Surendranath Banerjee 
C.​ Badruddin Tyabji 
D.​ Romesh Chandra Dutt 

 
Answer - Surendranath Banerjee 
 

The leading role in spreading the Swadeshi Movement to the rest of the 
country was played by: 
 

A.​ Bal Gangadhar Tilak 
B.​ Bipin Chandra Pal 
C.​ Aurobindo Ghose 
D.​ Surendranath Banerjee 

 
Answer - Bal Gangadhar Tilak 
 



In 1908, the bomb thrown by Prafulla Chaki and Khudiram Bose by mistake 
dropped on the carriage of: 
 

A.​ Mr Kingford 
B.​ Mr Kennedy 
C.​ Col. William Curzon 
D.​ None of the above 

 
Answer - Mr Kennedy 

What type of government was established in France after the monarchy 
was abolished? 
 

A.​ Democracy 
B.​ Constitutional monarchy 
C.​ Republic 
D.​ Empire 

 
Answer - Republic 

Who was the President of the United States during World War I? 
 

A.​ Theodore Roosevelt 
B.​ Woodrow Wilson 
C.​ Franklin D. Roosevelt 
D.​ Harry S. Truman 

 
Answer - Woodrow Wilson 

What was the code name for the Allied invasion of Normandy on 6th June 
1944? 
 
Answer - Operation Overlord 

What is appellate jurisdiction of a High Court? 
 

A.​ It hears appeals against the judgments of the Supreme Court 
B.​ It hears appeals against the judgments of the Subordinate Courts 
C.​ Independence of the Judiciary 
D.​ Enforcement of Fundamental Rights 



Answer - It hears appeals against the judgments of the Subordinate Courts 

By what majority, a State Legislative Assembly can pass no confidence 
motion against the Council of Ministers? 
 
Answer - Simple majority of members present and voting 

Name the process by which a Court may invalidate a law on the ground of 
violation of Fundamental Rights: 
 

A.​ Judicial review 
B.​ Issuing writs 
C.​ Impeachment 
D.​ Judicial commission 

 
Answer - Issuing writs 

Which of the following Fundamental Rights provides the “Freedom of 
Conscience” to all persons? 
 

A.​ Right to Equality 
B.​ Right to Freedom 
C.​ Right to Freedom of Religion 
D.​ Cultural and Educational Rights 

 
Answer - Right to Freedom of Religion 

Which of the following Articles mentions about the abolition of 
untouchability? 
 
Answer - Article 17 

In which of the following the word “Secular” is mentioned? 
 

A.​ Preamble of Indian Constitution 
B.​ Right to Freedom of Religion 
C.​ Right to Freedom 
D.​ Right to Equality 

 
Answer - Preamble of Indian Constitution 



Who presides over a joint session of Parliament? 
 

A.​ President 
B.​ Vice President 
C.​ Speaker of Loksabha 
D.​ Chief Justice of India 

 
Answer - President 

Geography 

How many parallels of latitude can be drawn on the globe at an interval of 
½ degree? 
 

A.​ 358 
B.​ 359 
C.​ 360 
D.​ 361 

 
Answer - 361 
 

Within which of the following states of India does the Tropic of Cancer 
intersect the Indian Standard Meridian? 
 

A.​ Andhra Pradesh 
B.​ Chhattisgarh 
C.​ Jharkhan 
D.​ Madhya Pradesh 

 
Answer - Chhattisgarh 

Which of the following tributary streams joins the main stream on a bank 
different from the other three? 
 

A.​ The Indravati 
B.​ The Manjira 
C.​ The Purna 
D.​ The Wainganga 

 



Answer - The Wainganga 

Which coastal tract area in India gets very low rainfall during the Summer 
monsoon period? 
 
Answer - The Coromandel Coast 

Which of the following RAMSAR sites is a lagoon? 
 

A.​ Deepor Beel 
B.​ Chilika Lake 
C.​ Kolleru Lake 
D.​ Wular Lake 

 
Answer - Chilika Lake 

Which of the following can be distinguished as a different type of resource 
from the other three in terms of ownership in India? 
 

A.​ Cremation ground 
B.​ Farmstead 
C.​ Playground 
D.​ Village pond 

 
Answer - Farmstead 

Which of the following areas in India is well known for the metallurgical 
industries? 
 

A.​ Chotanagpur Region 
B.​ Delhi Capital Region 
C.​ Hooghly Region 
D.​ Pune-Mumbai Region 

 
Answer - Chotanagpur Region 

In which of the following states of India is the population literacy rate the 
lowest among the states of India as per the Census, 2011? 
 

A.​ Arunachal Pradesh 



B.​ Bihar 
C.​ Jharkhand 
D.​ Rajasthan 

 
Answer - Bihar 
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